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1
1.1
1.1.1
Sample_2.F8B
1.1.2
@
(]
Lo
-
N
<
< < g
a8 3
300 300
[
[
[
=t
(]
(]
©O
5000 5000
500 300 500
11 300
@
1.1.3
(kN/m*)
y a 22.50
yt 18.00
y sat 18.80
yc 24.50
y w 9.80
1.1.4
a 1.000
( ) Ko 0.500
( ) Ko 0.500

5150

FORUMS8




1.1.5
case m (m (m
1 0.000 0.000 0.000
1.1.6
(kN/m*)
0.000
0.000
0.000
1.1.7
() )
0.0 0.0
0.0 0.0
0.0 0.0
0.0 0.0
0.0 0.0
1.1.8
o ck | N/mm’ 24.00
oca| N/mm’ 8.00
oca| N/mm’ 8.00
oca| N/mm’ 6.00
oca| N/mm’ 7.20
T al | N/mm’ 0.390
T a2 | N/mm’ 1.700
Ta N/mm? 0.900
T oa| N/mm’ 1.60
T oa | N/mm’ 1.60

Ec N/mm? 2.50 x 10°

—_— — SD345

osa| N/mm’ 180.00
( ) osa | N/mm’ 180.00

osa| N/mm’ 200.00
( Es Ec ) n — 15.0

FORUMS8




1.1.9

1.1.10

1.1.11

1.1.12

1.1.13

(cm) (cm)
10.0 10.0
10.0 10.0
10.0 11.0
10.0 11.0
10.0 10.0
= 100.0 ( )
case-1 [ ]
No (m (KN/m) (m )
1 2.950 72.73 0.200 45.0
2 8.950 18.18 0.200 45.0
case-2 [ ]
No (m) (kN/m) (m) ¢)
1 8.350 72.73 0.200 45.0
2 2.350 18.18 0.200 45.0
€H)
@)
(©)
4)
®)
©)
ga = 300.0  (kN/m?)

FORUMS8



1.2
1.2.1
€))

case

No

case No No

FORUMS8



1.2.2 (case-1)

2 450

e A _
@
w = 0.550 x 24.50 = 13.48 (kN/m?)
@
w = 0.500 x 24.50 = 12.25 (kN/m?)
©)
w=0.300 x 24.50 = 7.35 (kN/m?)
©)
w = 0.500 x 24.50 = 12.25 (kN/m?)
@
a
= 1.000 x 0.000 x 22.50 = 0.00 (kN/m?)
= 1.000 x 2.450 x 18.00 = 44.10 (kN/m?)
Twd = 44.10 (kN/m)
@
= 0.000 (KN/m?)
= 0.000 (kN/m?)
= 0.000 (kN/m?)
>qd = 0.000 (kN/m?)
©))

W= 44.10 + 0.00 = 44.10 (KN/m?)

FORUMS8




pi = Kox (qd + Yoxy a+ Zoxy )

Ko : = 0.500
= 0.500
qd = 0.00 (kN/m?)
Yo = 0.000 (m)
ya: = 22.50 (kN/m®)
y o = 18.00 (KN/m®)
Zo0 (m
@
Zo (m) p (kN/m?)
P 2.450 22.05
p- 2.725 24.53
Ps 7.300 65.70
Pa 7.600 68.40
&)
Zo (m) p (KN/m?)
P 2.450 22.05
p- 2.725 24.53
P 7.300 65.70
Pa 7.600 68.40
v H X y M
(KN/m) (KN/m) @m @m (kN.m/m)
156.68 5.650 885.23
49.00 0.250 12.25
29.40 5.650 166.11
49.00 11.050 541.45
498.33 5.650 2815.56
232.91 2.135 497.30
-232.91 2.135 -497.30
782.41 4420.60
@
X = L 5.650 (m)
pRY
e = {; -X = 0.000 (m)

FORUMS8



@)
Me

ql

qr

=3XVx e= 0.00 (KN.m/m)
SV 6 X Me
= v = 69.24 (V)
SV 6 X Me
=S - = 69.24 (V)
- ql T
—ql+ T o 6924 (RN/m)
B 2
1- T
et T T o 69,924 (RN/m)
B 2
T -
gl : BOX
gr : BOX
ql’
qr’

FORUMS8



1.2.3 (case-1)
2
10. OOkN/m=
@]
0
<
N
= |y —————— — TE
=l | E
=l | E
=l | E
=l | E
=1 | L E
=l | e
=l | e
e N =
@
p = Kox wl = 0.500 x 10.00 = 5.00 (kN/m?)
@
p = Kox wl = 0.500 x 10.00 = 5.00 (kN/m?)
H y M
(kN/m) (m) (kN.m/m)
25.75 2.575 66.31
-25.75 2.575 -66.31
0.00
@
6 X M
ql =+ ( Te X 1.000 = 0.00 (kN/m®)
qr = 0.00 (kN/m)
, qr — ql T
ql” = ql + — = 0.00 (kN/m)
B 2
1 - T
ar’ =ar + — T % — = 0,00 (kN/m)
B 2
T
ql BOX
qr BOX
ql’
qr’

FORUMS8



1.2.4 (case-2)
i1] iz]
/// \\\ /// \\\ o
/ N v N [fe}
// \\ // \\ ﬁ'i
// \\ // \\ C\i
Tt N 1
| | .
| ! |
i ! |
i ! !
i ! !
i ! |
i ! !
i ! !
I ———— S |
No L P Do 6 W Pvi .
(m (kN/m) (m ¢) m (kN/m)
1 2.950 72.73 0.200 | 45.0 5.100 14.26
2 8.950 18.18 0.200 | 45.0 5.100 3.56
L D BOXZESR S, A& ZIE & U-d#ifm £ ToERE
Pvl —
2XD
W o +
tan 6
Pvl - HAES MG E (kN/m’)
P D BOXHES I EATLR X245 ) DIEHTE (kN/m)
W D TTEAANE (m)
Do @ HEHUIE (m)
D D BED DS OAIER BEEUEE TOES = 2,450 (m)
0 : WEOSAAE )
€))
No- 1 (nsmdy m m
1 14.26 0.150 5.100
2 3.56 6.150 4.650
@

FORUMS8




- 10 -

wl = 0.00 (KN/m?)
p = Kox wl = 0.500 x 0.00 = 0.00 (kN/m?)
©)
wl = 3.56 (KN/m?)
p = Kox wl = 0.500 x 3.56 = 1.78 (kN/m?)
v H X y M
(KN/m) (KN/m) m m (KN.m/m)
1 72.73 2.950 214.55
2 17.47 8.850 154.58
0.00 2.575 0.00
9.18 2.575 _23.64
90.20 345.50
€y
M
X= == 3.8 (n
Y
B
e=—-X= 1.819 (w
2
@
Me =%XVx ex= 164.11 (kN.m/m)
SV 6 X Me
al = ( T X 1.000 = 15.69 (kN/m’)
B B
V6 XM
ar = ( - 222 ) X 1000 = 0.27 (kN/md)
B B
—al T
al’ =ql + L % = = 1535 (N/m)
B 2
1 - T
ar’ = qr + =4 = 061 N/
B 2
T -
gl : BOX
gr : BOX
ql’
qr’

FORUMS8
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1.2.5 (case-3)
[2] [1]
/// \\\ /// \\\ O
7/ N 7 N LO
// \\ // \\ A
/// \\\ /// \\\ N
= I [ 1
- | | ]
11 ! !
=k ! !
i ! !
i ! !
i ! !
i ! !
i ! !
I — S ——— !
No L p Do 0 W Pvl2
(m) (kN/m) (m) ¢) (m (kN/m%)
1 8.350 72.73 0.200 | 45.0 5.100 14.26
2 2.350 18.18 0.200 | 45.0 5.100 3.56

L D BOXE S, A& ZIEE L-$ifi s £ CoERE

2XD
tan 6

Pvl : HREZESHTEWE (kN/m?)
P © BOXfES A HEMN TS YD OERE (kKN/m)

W D TTEAANE (m)
Do : #EHIE ()
D DR D ESIG RSNV EE TCOES = 2,450 ()

6 : EOSMME )

(€H)
No- 1 (nsmdy m m
1 14.26 5.550 5.100
2 3.56 0.000 4.650
)

FORUMS8
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wl = 3.56 (kN/m%)
p = Kox wl = 0.500 x 3.56 = 1.78 (kN/m?)
(©))
wl = 0.00 (kN/m?)
p = Kox wl = 0.500 x 0.00 = 0.00 (kN/m?)
v H X y M
(kN/m) (kN/m) @m @m (kN.m/m)
1 72.73 8.350 607.30
2 17.47 2.450 42.79
9.18 2.575 23.64
0.00 2.575 0.00
90.20 673.73
@
=M
X=——= 7.469 (m)
Y
B
e=—-X= -1.819 (w
2
@
Me =2V x e= -164.11 (kN.m/m)
Y 6 X Me
ql = ( + . X 1.000 = 0.27 (kN/m%
B B
Y 6 X Me )
qr = ( - S X 1.000 = 15.69 (kN/m")
B B
- ql T
al’ =gl + 22— % — = 061 N/
B 2
1 - T
a’ =g+ % x == 1535 (N/md)
B 2
T o
gl : BOX
gr : BOX
ql’
qr’

FORUMS8
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1.3

No

AW ||

FORUMS8
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1.4
1.4.1

1.4.2

2 3 4 5
7
10 11 12 13
No X(m) Y(m)
1 0.000 4.575
2 2.700 4.575
3 5.400 4.575
4 8.100 4.575
10.800 4.575
6 0.000 2.288
7 5.400 2.288
8 10.800 2.288
9 0.000 0.000
10 2.700 0.000
11 5.400 0.000
12 8.100 0.000
13 10.800 0.000

FORUMS8
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1.4.3

1.4.4

1.4.5

A=1.0x
I =10 x /12
No A(m") I(m")
1 1 2 0.5500 0.0139
2 2 3 0.5500 0.0139
3 3 4 0.5500 0.0139
4 4 5 0.5500 0.0139
5 1 6 0.5000 0.0104
6 6 9 0.5000 0.0104
7 3 7 0.3000 0.0023
8 7 11 0.3000 0.0023
9 5 8 0.5000 0.0104
10 8 13 0.5000 0.0104
11 9 10 0.6000 0.0180
12 10 11 0.6000 0.0180
13 11 12 0.6000 0.0180
14 12 13 0.6000 0.0180
E =2.50 x 10" (kN/m?)
=1.00 x 10° (1/ )
@ 1
(kN/m) (kN/m) (kN.m/rad)
9 -1 -1 0
11 0 0 0
13 0 -1 0
) -1 : , 0:
) 2
(kN/m) (kN/m) (kN.m/rad)
9 0 -1 0
11 0 0 0
13 -1 -1 0
) -1 , 0:

FORUMS8
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®
CASE CASE
1 -1 1
2| -1 -1 1
3| -1 -2 1
4| -1 -3 1

FORUMS8
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1.6
1.6.1

M kN.m -90.4 0.0 -217.4 0.0 -90.4
N kN 77.2 0.0 7.2 0.0 77.1
b cm 100.00 100.00 100.00 100.00 100.00
h cm 55.00 55.00 55.00 55.00 55.00
d cm 45.00 45.00 45.00 45.00 45.00
di cm 10.00 10.00 10.00 10.00 10.00
d2 cm 10.00 10.00 10.00 10.00 10.00
cm’ 9.78 0.00 28.22 0.00 9.77

cm’ 0.00 0.00 0.00 0.00 0.00

D19 @250 D— @—— | D32 @250 D— @—— | D19 @250

cm’ D—@— | D— @ D— @ D—@— | D—@—

11.460 31.768 E—— 11.460

D— @—— | D22 @250 D— @—— | D22 @250 D— @0—

cm’ D—@—— | D— @ D— @ D—@— | D— @—
E—— 15.484 15.484 E——

X cm 12.633 0.000 17.398 0.000 12.633
gc N/mm’ 4.03 0.00 6.77 0.00 4.03
os N/mm’ 155.04 0.00 161.12 0.00 154.98
o ca N/mm’ 8.00 8.00 8.00 8.00 8.00
o0 sa N/mm’ 180.00 180.00 180.00 180.00 180.00

—_— | — 3 — 3 — 4

FORUMS8
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M kN.m 0.0 111.5 0.0 111.6 0.0
N kN 0.0 77.2 0.0 77.1 0.0
b cm 100.00 100.00 100.00 100.00 100.00
h cm 55.00 55.00 55.00 55.00 55.00
d cm 45.00 45.00 45.00 45.00 45.00
di cm 10.00 10.00 10.00 10.00 10.00
d2 cm 10.00 10.00 10.00 10.00 10.00
cm’ 0.00 0.00 0.00 0.00 0.00

cm’ 0.00 12.77 0.00 12.78 0.00

D19 @250 D— @—— | D32 @250 D— @—— | D19 @250

cm’ D—@— | D— @ D— @ D—@— | D—@—

11.460 31.768 E—— 11.460

D— @—— | D22 @250 D— @—— | D22 @250 D— @—

cm’ D—@—— | D— @ D— @ D—@— | D— @—
— 15.484 15.484 —

X cm 0.000 13.876 0.000 13.876 0.000
gc N/mm’ 0.00 4.46 0.00 4.47 0.00
gs N/mm’ 0.00 150.20 0.00 150.24 0.00
o ca N/mm’ 8.00 8.00 8.00 8.00 8.00
o0 sa N/mm’ 180.00 180.00 180.00 180.00 180.00

[ D _ 3 _ 4 _

FORUMS8
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M kN.m -90.4 22.7 -138.5
N kN 168.3 158.7 184.6
b cm 100.00 100.00 100.00
h cm 50.00 50.00 50.00
d cm 40.00 40.00 40.00
di cm 10.00 10.00 10.00
d2 cm 10.00 10.00 10.00
cm’ 8.54 0.00 21.78
o’ 0.00 0.00 0.00
D19 @250 D— 0— D29 @250
cn’ D— @0—— D— 0—— D— @
11.460 e 25.696
D13 @250 D13 @250 D13 @250
cn’ D— @0—— D— 00— D— @
5.068 5.068 5.068
X cm 13.671 32.907 16.950
gc N/mm’ 4.78 0.97 5.71
gs N/mm’ 137.96 3.15 116.46
o ca N/mm? 8.00 8.00 6.00
o sa N/mm’ 180.00 180.00 180.00
_— — 3 2 2

FORUMS8
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M kN.m -1.4 1.4 -1.6 1.6
N kN 404.6 404.6 434.0 434.0
b cm 100.00 100.00 100.00 100.00
h cm 30.00 30.00 30.00 30.00
d cm 20.00 20.00 20.00 20.00
di cm 10.00 10.00 10.00 10.00
d2 cm 10.00 10.00 10.00 10.00
cm’ 0.00 0.00 0.00 0.00
cm’ 0.00 0.00 0.00 0.00
D13 @250 D13 @250 D13 @250 D13 @250

cm’ D—@— | D— @ D— @ D— @—
5.068 5.068 5.068 5.068
D13 @250 D13 @250 D13 @250 D13 @250

cm’ D—@—| D—@—| D—@— | D—@—
5.068 5.068 5.068 5.068
X cm 169.650 169.650 164.657 164.658
gc N/mm? 1.44 1.44 1.55 1.55
gs N/mm? -19.11 -19.11 -20.47 -20.47
o ca N/mm? 8.00 8.00 6.00 6.00
0 sa N/mm? -200.00 -200.00 -200.00 -200.00

— 3 4 3 4

FORUMS8
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M kN.m -90.4 22.7 -138.5
N kN 168.3 158.7 184.6
b cm 100.00 100.00 100.00
h cm 50.00 50.00 50.00
d cm 40.00 40.00 40.00
di cm 10.00 10.00 10.00
d2 cm 10.00 10.00 10.00
cm’ 8.53 0.00 21.78
o’ 0.00 0.00 0.00
D19 @250 D— 0— D29 @250
cn’ D— @0—— D— 0—— D— @
11.460 e 25.696
D13 @250 D13 @250 D13 @250
cn’ D— @0—— D— 00— D— @
5.068 5.068 5.068
X cm 13.672 32.907 16.950
gc N/mm’ 4.77 0.97 5.71
gs N/mm’ 137.89 3.15 116.46
o ca N/mm? 8.00 8.00 6.00
o sa N/mm’ 180.00 180.00 180.00
_— — 4 2 2

FORUMS8
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M kN.m -138.5 0.0 -184.4 0.0 -138.5
N kN 143.4 0.0 137.4 0.0 143.4
b cm 100.00 100.00 100.00 100.00 100.00
h cm 60.00 60.00 60.00 60.00 60.00
d cm 49.00 49.00 49.00 49.00 49.00
di cm 11.00 11.00 11.00 11.00 11.00
d2 cm 11.00 11.00 11.00 11.00 11.00
cm’ 12.91 0.00 19.20 0.00 12.91

cm’ 0.00 0.00 0.00 0.00 0.00

D29 @250 D— @—— | D25 @250 D— @—— | D29 @250

cm’ D—@— | D— @ D— @ D—@— | D— @—

25.696 20.268 E—— 25.696

D— @—— | D22 @250 D— @—— | D22 @250 D— @—

cm’ D—@—— | D— @ D— @ D—@— | D— @—
— 15.484 15.484 —

X cm 19.106 0.000 16.588 0.000 19.106
gc N/mm’ 4.07 0.00 5.84 0.00 4.07
gs N/mm’ 95.51 0.00 171.13 0.00 95.51
o ca N/mm’ 6.00 8.00 6.00 8.00 6.00
o0 sa N/mm’ 180.00 180.00 180.00 180.00 180.00

—_— | — 2 — 3 — 2

FORUMS8
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M kN.m 0.0 134.5 0.0 134.4 0.0
N kN 0.0 137.4 0.0 129.2 0.0
b cm 100.00 100.00 100.00 100.00 100.00
h cm 60.00 60.00 60.00 60.00 60.00
d cm 49.00 49.00 49.00 49.00 49.00
di cm 11.00 11.00 11.00 11.00 11.00
d2 cm 11.00 11.00 11.00 11.00 11.00
cm’ 0.00 0.00 0.00 0.00 0.00

cm’ 0.00 12.56 0.00 12.80 0.00

D29 @250 D— @—— | D25 @250 D— @—— | D29 @250

cm’ D—@— | D— @ D— @ D—@— | D— @—

25.696 20.268 E—— 25.696

D— @—— | D22 @250 D— @—— | D22 @250 D— @—

cm’ D—@—— | D— @ D— @ D—@— | D— @—
— 15.484 15.484 —

X cm 0.000 15.720 0.000 15.539 0.000
gc N/mm’ 0.00 4.67 0.00 4.67 0.00
gs N/mm’ 0.00 148.26 0.00 150.84 0.00
o ca N/mm’ 6.00 8.00 6.00 8.00 6.00
o0 sa N/mm’ 180.00 180.00 180.00 180.00 180.00

[ D _ 3 _ 4 _

FORUMS8
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1.6.2

S
Tm:m = Ta
b = 100.0 (cm)
S d Tm T a L
(kN) (cm) (N/mm?) (N/mn?* ) (m
168.3 | 45.00 0.374 0.780 3 0.000
1 105.8 | 45.00 0.235 0.390 3 0.900
T -152.8 | 45.00 0.340 0.390 3 0.900
-215.3 | 45.00 0.479 0.780 3 0.000
1 152.8 | 45.00 0.340 0.390 4 0.900
T -105.8 | 45.00 0.235 0.390 4 0.900
-168.3 | 45.00 0.374 0.780 4 0.000
-85.9 | 40.00 0.215 0.780 2 0.000
T -59.4 | 40.00 0.148 0.390 2 0.800
T 89.7 | 40.00 0.224 0.390 2 0.800
143.4 | 40.00 0.358 0.780 2 0.000
0.0 | 20.00 0.000 0.780 3 0.000
T 0.0 | 20.00 0.000 0.390 3 0.400
1 0.0 | 20.00 0.000 0.390 3 0.400
0.0 | 20.00 0.000 0.780 3 0.000
85.9 | 40.00 0.215 0.780 2 0.000
T 59.4 | 40.00 0.148 0.390 2 0.800
1 -89.7 | 40.00 0.224 0.390 2 0.800
-143.4 | 40.00 0.358 0.780 2 0.000
-213.1 | 49.00 0.435 0.780 3 0.000
T -130.9 | 49.00 0.267 0.390 0.980
1 147.4 | 49.00 0.301 0.390 3 0.980
223.8 | 49.00 0.457 0.780 3 0.000
T -147.4 | 49.00 0.301 0.390 4 0.980
1 130.9 | 49.00 0.267 0.390 4 0.980
213.1 | 49.00 0.435 0.780 4 0.000
T
L

FORUMS8
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1.7
1.7.1
vV X M
(KN/m) | (m) (kN.m/m)
11.300 x 0.550 24.50 152.27 5.650 860.31
4.000 x 0.500 x 24.50 49.00 | 0.250 12.25
4.000 x 0.300 x 24.50 29.40 | 5.650 166.11
4.000 x 0.500 24 .50 49.00 | 11.050 541.45
11.300 x 0.600 x 24.50 166.11 | 5.650 938.52
1/2 x  0.300 x 0.300 x 24.50 1.10 | 0.600 0.66
1/2 x 0.300 x 0.300 24.50 1.10 | 10.700 11.80
1/2 x  0.300 x 0.300 x 24.50 1.10 | 5.400 5.95
1/2 x  0.300 x 0.300 x 24.50 1.10 | 5.900 6.50
450.19 | — 2543.56
€))
= 0.000 (kN/m2)
= 0.000 (kN/m?)
= 0.000 (kN/m2)
qd = 0.000 (kN/m?)
@
a
= 1.000 x 0.000 x 22.50 = 0.00 (kN/m?)
= 1.000 x 2.450 x 18.00 = 44.10 (kN/m?)
wd = 44.10 (kN/m?)
(©))
V=1o( 0,000+ 44.10 ) X 11.300 = 498.330 (kN/m)
11. 300
X = ; = 5.650 (m)

M=VXX= 281556 (kN.m/m)

(1) [ CASE-1 ]

Ko = 0.500
Ko = 0.500
1) [ case-1 1]
= 0.000 (m)

FORUMS8
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(1) [ CASE-1 ]

1) [ case-1 ]
\% H M
(KN/m) (KN/m) (KN.m/m)
450.19 E— 2543.56
498.33 S 2815.56
948.52 0.00 5359.12

FORUMS8
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1.7.2
@
[2]
D
@
D
v X M
(kN/m) (m) (KN.m/m)
1 14.26x 5.100 72.73 | 2.950 214.55
2 3.56x 4.900 17.47 | 8.850 154.58
b2 x 90.20 | —— 369.14
2)
p = 0.500 x 0.00 = 0.00 (kN/m?)
p = 0.500 x 3.56 = 1.78 (kN/m?)
H Y M
(kN/m) m) | (kN.m/m)
0.00 x 5.150 0.00 2.575 0.00
1.78 x 5.150 -9.18 2.575 -23.64
-9.18 | — -23.64
3)
% H M
(kN/m) (kN/m) (kN.m/m)
90.20 — 369.14
— -9.18 -23.64
90.20 -9.18 345.50
®
D
% X M
(kN/m) (m) (KN.m/m)
1 14.26x 5.100 72.73 | 8.350 607.30
2 3.56x 4.900 17.47 | 2.450 42.79
z x 90.20 | — 650.09

FORUMS8
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2)
p = 0.500 x 3.56 = 1.78 (kN/m?)
p = 0.500 x 0.00 = 0.00 (kN/m%)
H Y M
(kN/m) m) | (kN.m/m)
1.78 x 5.150 9.18 2.575 23.64
0.00 x 5.150 0.00 2.575 0.00
9.18 e 23.64
3)
% H M
(KN/m) (KN/m) (KN.m/m)
90.20 — 650.09
— 9.18 23.64
90.20 9.18 673.73
1.7.3
(@) @
\% H M
(KN/m) (KN/m) (KN.m/m)
[ case-1 ] 948.52 0.00 5359.12
948.52 0.00 5359.12
=M
X=——= 5.650 (m)
Y
B
e = EE - X = 0.000 (m)
Me =XV x ex= 0.00 (kN.m/m)
Y 6 X M
a= -k T = 83,04 (Vi) = qa=300.0 (V)
= 83.94 (kN/m")
(2 -1 -2
v H M
(kN/m) (kN/m) (kN.m/m)
[ case-1 ] 948.52 0.00 5359.12
[2] 90.20 -9.18 345.50
1038.71 -9.18 5704.63

OK

FORUMS8
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* B/ OYERNLE R L O LR HE

2M
X=——== 5492 (m)
zZV
B
e=——-X= 0.158 (m)
2
Me =2V x e 164.11 (kN.m/m)
AR
Y 6 X M ; ;
q = B + o ¢ = 99.63 (kN/m?) = qa=300.0 (kN/m®)  OK
= 84.21 (kN/m")
(3 -1 -3
v H M
(kN/m) (kN/m) (kN.m/m)
[ case-1 ] 948.52 0.00 5359.12
[3] 90.20 9.18 673.73
1038.71 9.18 6032.85
- B OVERALE TS & OMR O EREE
=M
X=——= 5.808 (m
Y
B
e=— - X=-0.158 (m)
2
Me =XV x e= -164.11 (kN.m/m)
AR
Y 6 X M
q = B + e £ = 99.63 kN/m) = qa=300.0 (kN/m*) OK
= 84.21 (kN/m)
1.7.4
ga 300.0 (kN/m?)
(kN/m?)
No
vV (kN) H (kN) M(KN.m) e (m gmax gmin
1 ()] 948.5 0.0 0.0 0.000 83.940 83.940 | OK
2 -1 -2 1038.7 -9.2 164.1 0.158 99.633 84.210 | OK
3 -1 -3 1038.7 9.2 -164.1 -0.158 99.633 84.210 | OK

FORUMS8
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2
2.1
@
2 0
= i
300"
o o
o ©
o —
A 10
o
500 5 000 300 5 000 500
11 300
4410 21 180 4410
a=10. 00
NN
2
S
o
.
0O
Kv:§zd/b.0 Kv=62376.0
15 000 15 000
15 000 15 000
30 000
@
y = 18.00 (kN/m*)
No X (m) Y (m)
1 0.000 0.000
2 4.410 2.450
3 25.590 2.450
4 30.000 0.000

FORUMS8
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©)
o ck | N/mm? 24.00
Ec | N/mm? 2.50x 10°*
o ca | N/mm? 8.00
— SD345
o sa | N/mm? 180.00
n e 15.0
m 1.000
y ¢ | kN/m® 24.50
2.2
A(m) y(m) A y(m) A Y@ lo(n")
6.2150 | 4.8750 30.2981 | 147.7034 0.1567
6.7800 | 0.3000 2.0340 0.6102 0.2034
2.0000 | 2.6000 5.2000 13.5200 2.6667
2.0000 | 2.6000 5.2000 13.5200 2.6667
1.2000 | 2.6000 3.1200 8.1120 1.6000
0.0900 | 4.5000 0.4050 1.8225 0.0005
0.0000 | 0.6000 0.0000 0.0000 0.0000
0.0900 | 4.5000 0.4050 1.8225 0.0005
0.0000 | 0.6000 0.0000 0.0000 0.0000
18.3750 46.6621 | 187.1106 7.2943
WrimfE XA = 18.3750 (m%)
Wi —kE— A > |k
Yo = 20y = 2.539 (m)
SA
I =X@A-y)+ZTo—VYels ZA = 75.9094 (m*)
2.3
@
A = 18.3750 (m%)
w=A yc=18.3750x 24.50 = 450.19 (kN/m)
@
(m) (m) (kN/m) (kN/m)
1 0.000 4.410 0.00 498.33
2 4.410 21.180 498.33 498.33
3 25.590 4.410 498.33 0.00

FORUMS8
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®

Q=9 B =10.00x 11.300 =113.00 (kN/m)
q (kN/m?)
B BOX (m)

Ls

21.180 (m)
0.000 (m)
0.000 (m)

L = 21.180 (m)

AT EIRE Q -in =113.00 (kN/m)

( ) = 4.410 (m)
2.4
@
M (kN.m) (m
Mmax Mmin Mmax Mmin
1 1707.6 0.0 6.000 0.000
2 1707.6 0.0 9.000 15.000
®
S (kN) (@)
Smax Smin Smax Smin
1 409.8 -300.3 3.000 11.000
2 300.3 -409.8 4.000 12.000
®
1
M S
(m (kN.m) (kN)
0.000 0.0 0.0
1.000 148.1 216.3
2.000 439.4 352.9
3.000 827.4 409.8
4.000 1232.5 387.0
5.000 1559.1 237.4
6.000 1707.6 65.1
7.000 1700.4 -74.0
8.000 1570.6 -180.1
9.000 1351.3 -253.1
10.000 1075.4 -293.2

FORUMS8
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M S
(m (kN.m) (kN)

11.000 775.9 -300.3

12.000 485.8 -274.5

13.000 237.8 -215.9

14.000 65.0 -124.4

15.000 0.0 -0.1

2
M S
(m (kN.m) (kN)

0.000 0.0 0.0

1.000 65.0 124.4

2.000 237.8 215.9

3.000 485.8 274.5

4._000 775.9 300.3

5.000 1075.4 293.2

6.000 1351.3 253.1

7.000 1570.6 180.1

8.000 1700.4 74.0

9.000 1707.6 -65.1

10.000 1559.1 -237.4

11.000 1232.5 -387.0

12.000 827.4 -409.8

13.000 439.4 -352.9

14.000 148.1 -216.3

15.000 0.0 0.0

2.5
2.5.1
1707. 6
T T
\ \
\ \
\ \
\ \
\ \
\ \
| |
1707. 6

FORUMS8
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2.5.2

—300. 3

300. 3
I

\
409. 8

|
—409. 8

FORUMS8
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2.6
@
Mmax
BOX BW cm 1130.0
BOX BH cm 515.0
cm 55.0
cm 50.0
cm 30.0
cm 50.0
cm 60.0
cm 30.0
cm 30.0
cm 30.0
cm 30.0
cm —
cm —
cm —
cm —
M kN.m 1707.6
di cm 10.0
D16- 43
Asl cm’ 85.398
d2 cm 10.0
D16- 45
As2 cm’ 89.370
d3 cm 11.0
D16- 45
As3 cm’ 89.370
d4 cm 11.0
D16- 43
As4 cm’ 85.398
X cm 44.336
n e 15.0
oc N/mm? 0.14
oS N/mm* 21.67
oca| N/mm’ 8.00
osa| N/mm’ 180.00

FORUMS8
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@

Mmax

BOX BW cm 1130.0

BOX BH cm 515.0

cm 55.0

cm 50.0

cm 30.0

cm 50.0

cm 60.0

cm 30.0

cm 30.0

cm 30.0

cm 30.0

cm —

cm —

cm —

cm —

M kN._m 1707.6

di cm 10.0
D16- 43

Asl cm® 85.398

d2 cm 10.0
D16- 45

As2 cm’ 89.370

d3 cm 11.0
D16- 45

As3 cm’ 89.370

d4 cm 11.0
D16- 43

As4 cm’ 85.398

X cm 44.336

n — 15.0

oc N/mm* 0.14

s N/mm? 21.67

oca| N/mm 8.00

osa| N/mm’ 180.00

FORUMS8
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3
3.1
3.1.1
@
6 525 |
3 —3
Q
-
Q
0 o
2] ° 18}
[le} g o
<
Q
o
—

@

n = )

o ck | N/mm? 24.00
Ec | N/mm? 2.50x 10°

o ca | N/mm* 8.00

— SD345

o sa | N/mm* 180.00

n — 15.0
Ko e 0.500

Y kN/m* 18.00

Qv | kN/m® 10.00
ho Qv vy m 0.556

FORUMS8
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3.1.2

ON=vii

Sm

Hs
LA
ho

MA
SA

1 LA (Hs+ho) (Hs*+2 - ho - Hs)
— v Ko+ { - - LA? . LA"}
2 12 * n 3+*n 2
1 6. 525" ( 1.000+ 0.556)
— +18.00-0.500 { - .« 6.525°
2 12 - 1. 500 3+ 1.500

( 1.000°+2 + 0.556 + 1.000)

.« 6.525%

2
936.49 (kN. m)

LA® n (Hs+ho)

E. ) 3.n’ n

6. 525

<« LA* + (Hs®*+2 + ho + Hs) + LA}

( 1.000+ 0.556)
- 6,525

- 18.00 - 0.500 - {
3+ 1.500°

1

2

+ ( 1.000°+2+ 0.556 « 1.000) *
445, 88 (kN)

936.49 (kN.m)

445.88 (KN)
M 936. 49
—a = 000 =
h 5. 350
s 445, 88
— o’ = 1.000 =
h 5. 350

(m

(m
(m

(m

1. 500
6. 525}

175.05 (kN. m/m)

83.34 (kN/m)

(kN.m)
(kN.m)

FORUMS8
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3.1.3

M kN._m 175.0
S kN 83.3
b cm 100.0
h cm 50.0
d cm 40.0
n — 15.0
Asr cm’ 27.660
mm D32 @250
D— @ —
As cm? 31.770
P — 0.00794
K — 0.383
C — 5.982
S — 9.625
X cm 15.332
oc N/mm? 6.54
s N/mm? 157.93
T N/mm’ 0.208
oca | N/mm’ 8.00
osa | N/mm? 180.00
Ta N/mm? 0.390

FORUMS8
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1 000

4 350

5 350

3.2
3.2.1
@
. 6 525
)
3
2
o)
o)
™
L0
i = 0.00000
n=1:1.500 ( )

(@)

o ck | N/mm’ 24.00

Ec | N/mm’ 2.50x 10*

o ca | N/mm’ 8.00

E— SD345

o sa | N/mm’ 180.00

n — 15.0

Ko e 0.500

y kN/m® 18.00

Qv | kN/m? 10.00

ho Qv vy m 0.556

FORUMS8
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3.2.2

ON=vii

Sm

Hs
LA
ho

MA
SA

1 LA (Hs+ho) (Hs*+2 - ho - Hs)
— v Ko+ { - - LA? . LA"}
2 12 * n 3+*n 2
1 6. 525" ( 1.000+ 0.556)
— +18.00-0.500 { - .« 6.525°
2 12 - 1. 500 3+ 1.500

( 1.000°+2 + 0.556 + 1.000)

.« 6.525%

2
936.49 (kN. m)

LA® n (Hs+ho)

E. ) 3.n’ n

6. 525

<« LA* + (Hs®*+2 + ho + Hs) + LA}

( 1.000+ 0.556)
- 6,525

- 18.00 - 0.500 - {
3+ 1.500°

1

2

+ ( 1.000°+2+ 0.556 « 1.000) *
445, 88 (kN)

936.49 (kN.m)

445.88 (KN)
M 936. 49
—a = 000 =
h 5. 350
s 445, 88
— o’ = 1.000 =
h 5. 350

(m

(m
(m

(m

1. 500
6. 525}

175.05 (kN. m/m)

83.34 (kN/m)

(kN.m)
(kN.m)

FORUMS8
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3.2.3

M kN._m 175.0
S kN 83.3
b cm 100.0
h cm 50.0
d cm 40.0
n — 15.0
Asr cm’ 27.660
mm D32 @250
D— @ —
As cm? 31.770
P — 0.00794
K — 0.383
C — 5.982
S — 9.625
X cm 15.332
oc N/mm? 6.54
s N/mm? 157.93
T N/mm’ 0.208
oca | N/mm’ 8.00
osa | N/mm? 180.00
Ta N/mm? 0.390

FORUMS8
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4
4.1
4.1.1
@
6 H2bH |
3 —&
o]
L
o
[lo] o
[as] ° o]
L g o
<
o
o
™

@

n = )

o ck | N/mm? 24.00
Ec | N/mm? 2.50x 10°

o ca | N/mm* 8.00

— SD345

o sa | N/mm* 180.00

n — 15.0
Ko e 0.500

Y kN/m* 18.00

Qv | kN/m® 10.00
ho Qv vy m 0.556

FORUMS8
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4.1.2

ON=vii

Sm

Hs
LA
ho

MA
SA

1 LA (Hs+ho) (Hs*+2 - ho - Hs)
— v Ko+ { - - LA? . LA"}
2 12 * n 3+*n 2
1 6. 525" ( 1.000+ 0.556)
— +18.00-0.500 { - .« 6.525°
2 12 - 1. 500 3+ 1.500

( 1.000°+2 + 0.556 + 1.000)

.« 6.525%

2
936.49 (kN. m)

LA® n (Hs+ho)

E. ) 3.n’ n

6. 525

<« LA* + (Hs®*+2 + ho + Hs) + LA}

( 1.000+ 0.556)
- 6,525

- 18.00 - 0.500 - {
3+ 1.500°

1

2

+ ( 1.000°+2+ 0.556 « 1.000) *
445, 88 (kN)

936.49 (kN.m)

445.88 (KN)
M 936. 49
—a = 000 =
h 5. 350
s 445, 88
— o’ = 1.000 =
h 5. 350

(m

(m
(m

(m

1. 500
6. 525}

175.05 (kN. m/m)

83.34 (kN/m)

(kN.m)
(kN.m)

FORUMS8
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4.1.3

M kN._m 175.0
S kN 83.3
b cm 100.0
h cm 50.0
d cm 40.0
n — 15.0
Asr cm’ 27.660
mm D32 @250
D— @ —
As cm? 31.770
P — 0.00794
K — 0.383
C — 5.982
S — 9.625
X cm 15.332
oc N/mm? 6.54
s N/mm? 157.93
T N/mm’ 0.208
oca | N/mm’ 8.00
osa | N/mm? 180.00
Ta N/mm? 0.390

FORUMS8
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1 000

4 350

5 350

4.2
4.2.1
@
. 6 525
)
3
2
o)
o)
™
L0
i = 0.00000
n=1:1.500 ( )

(@)

o ck | N/mm’ 24.00

Ec | N/mm’ 2.50x 10*

o ca | N/mm’ 8.00

E— SD345

o sa | N/mm’ 180.00

n — 15.0

Ko e 0.500

y kN/m® 18.00

Qv | kN/m? 10.00

ho Qv vy m 0.556

FORUMS8
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4.2.2

ON=vii

Sm

Hs
LA
ho

MA
SA

1 LA (Hs+ho) (Hs*+2 - ho - Hs)
— v Ko+ { - - LA? . LA"}
2 12 * n 3+*n 2
1 6. 525" ( 1.000+ 0.556)
— +18.00-0.500 { - .« 6.525°
2 12 - 1. 500 3+ 1.500

( 1.000°+2 + 0.556 + 1.000)

.« 6.525%

2
936.49 (kN. m)

LA® n (Hs+ho)

E. ) 3.n’ n

6. 525

<« LA* + (Hs®*+2 + ho + Hs) + LA}

( 1.000+ 0.556)
- 6,525

- 18.00 - 0.500 - {
3+ 1.500°

1

2

+ ( 1.000°+2+ 0.556 « 1.000) *
445, 88 (kN)

936.49 (kN.m)

445.88 (KN)
M 936. 49
—a = 000 =
h 5. 350
s 445, 88
— o’ = 1.000 =
h 5. 350

(m

(m
(m

(m

1. 500
6. 525}

175.05 (kN. m/m)

83.34 (kN/m)

(kN.m)
(kN.m)

FORUMS8
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4.2.3

M kN._m 175.0
S kN 83.3
b cm 100.0
h cm 50.0
d cm 40.0
n — 15.0
Asr cm’ 27.660
mm D32 @250
D— @ —
As cm? 31.770
P — 0.00794
K — 0.383
C — 5.982
S — 9.625
X cm 15.332
oc N/mm? 6.54
s N/mm? 157.93
T N/mm’ 0.208
oca | N/mm’ 8.00
osa | N/mm? 180.00
Ta N/mm? 0.390

FORUMS8
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